UT Administration of Dadra & Nagar Haveli and Daman & Diu
Staff Selection Board
Fort Area, Moti Daman — 396 220

No. 1/15/2021-SSB/2022-23/ 74 Dated: LTI—JOTIZOZZ

NOTE

Examination were conducted by Staff Selection Board in August 2021
for various posts.

Objection to answer keys for various posts were invited by Staff
Selection Board through Objection link, wherein candidates raised objection on
various answers.

The objections were scrutinized by expert committees.

Accordingly, revised (Post-Objection) answer keys for the examination
are uploaded herewith.

The revised answer keys are final and any kind of objection further will
not be entertained.

A

/
Deputy Secretary (SSB)
DNH & DD
Daman



Obijection Redressal Summary for Examination held for various posts in August 2021

Post : Assistant Teacher — TGT Sanskrit
Date of Exam : 03-Aug-2021

Shift: 3

Question ID : 7719072055

Original Question with Options :

AR ¢ &: U2

Options :

2 o

Post-Objection Answer Key :

S

1k



Post : Assistant Teacher — TGT Sanskrit
Date of Exam : 03-Aug-2021

Shift : 3

Question ID : 7719072073

Original Question with Options :

EEEEISEEESASIRI
Options :

, 5 faened ufed mesfal

o, & fquream ufdar mfal o

5 O faemed e e

o 5 faenert afga Tesfd |

Post-Objection Answer Key :
Options :

~ : faenerd uidd Tidl W

1

, G [qgmerar ufdar Tesfd|

 : faeerd 9 sl

3

, O faenerd ufdam Teid |



Post : TGT — Computer Language Proficiency - Sanskrit
Date of Exam : 03-Aug-2021

Shift : 2

Question ID : 7719072093

Original Question with Options :

Al Aell cusaRUAHi Bl Gt 0.
‘Aol sid ude el

Options:
1 cucell o
, @]

3. Auellell

4. AUl

Post-Objection Answer Key :

1 Auelall
, Audle] o

3. Gucllell

4. AuelA



Post : TGT — Computer Language Proficiency - Sanskrit
Date of Exam : 03-Aug-2021

Shift : 2

Question ID : 7719072094

Original Question with Options :

‘dlug] 1G] Ysia B
Options :

1. el

2. clusll o

3 duxll

4. cdlual

Post-Objection Answer Key :

1 dludl o

5 cluetl

3wl

4. clual



Post : TGT — Computer Language Proficiency - Sanskrit
Date of Exam : 03-Aug-2021

Shift : 2

Question ID : 7719072095

Original Question with Options :

Aol ctseRUAM ¥ et 2.
AEsA A32AA Y YAl

Options :
1. B@sA o
», Q@sA

3, A3AA

4. A3l

Post-Objection Answer Key :

;. @&stal

, RUASIA of
3 AZAA

4. A3l



Post : TGT — Computer Language Proficiency - Sanskrit
Date of Exam : 03-Aug-2021

Shift : 2

Question ID : 7719072096

Original Question with Options :

o{lAell cltseR UMl 23l et .
‘Uslopall Slon 1Rl u 2d2 Ewldg

Options:
1. H5lalall

2, HElAHL of

5, HSlelg

4. H5letall

Post-Objection Answer Key :

. Hlolell
2 HSletHl

5 H3lelg

4. H5lotell



Post : TGT — Computer Language Proficiency - Sanskrit
Date of Exam : 03-Aug-2021

Shift : 2

Question ID : 7719072100

Original Question with Options :

ol WA ausa AU A 53 Al
‘YUK ol oilausuedl aidl see QUR 503 Sl WH wRuA ]

Options :
;L ol sge diRauguell AR 5013 Slal A w¥RUA B.
, Ul séet yuH Al difQaugusl AR 5203 S AH wUA B

5 Olidllauguell Quir se1p yan dl oidll 3u Ax e B.

5 dltllauguedl 52013 Auir yud dl il siu AX ¥R B. o

Post-Objection Answer Key :

Al outll séed difausuel AuR seU3 Sl AH WA B.
, Olitll sgel yuH dl dlifdusuell AuR 52Uz Sl WAH FUA D of
5 ditllauguetl QuiR 5013 yaur dl ol e WM wuA B.

5 dtflaugusll 5201z AU Y dl ol Fie A weuA B.



Post : Junior Engineer (Civil)
Date of Exam : 03-Aug-2021
Shift : 3

Question ID : 77190792
Original Question with Options :

Select the option that is different from the rest in a certain manner.
Options :

1.22:44

2.66:88 of

3.33:66

4.33:99

Post-Objection Decision :

No Correct Option. Full Marks to All Candidates.



Post : Junior Engineer (Civil)
Date of Exam : 03-Aug-2021
Shift : 3

Question ID : 771907159
Original Question with Options :

Calculate the plastic section modulus of a beam with maximum bending moment of 230kN-m,
Take f,=250.

Options:

1. 550x103 mm?3

2. 945 x10° mm?

3.1012x103 mm3 «

4. 1560 x103 mm3

Post-Objection Decision :

No Correct Option. Full Marks to All Candidates.



Post : Junior Engineer (Electrical)
Date of Exam : 03-Aug-2021
Shift : 3

Question ID : 771907231
Original Question with Options :

A 100 metres long 2 wire D.C. distributer is uniformly loaded with 1 A/m. Find out the voltage drop
up to 60 m if distributer is fed at one end. Given resistance of wire is 0.5 Q/km.

Options:

1.25V

2.15V

3.21V e

4.1.2V

Post-Objection Decision :

No Correct Option. Full Marks to All Candidates.



Post : PGT — Chemistry

Date of Exam : 04-Aug-2021
Shift: 1

Question ID : 771907835
Original Question with Options :

Given the charge of an electron as 1.602 x (10)~19 C, the number of electrons involved in producing

acurrent of 1 Alis:
Options :

1.6.023 x 1023
2.6.42x 1018 o
3.1.602x 1012

4.0.266 x 104

Post-Objection Decision :

No Correct Option. Full Marks to All Candidates.



Post : PGT — Chemistry

Date of Exam : 04-Aug-2021
Shift: 1

Question ID : 771907842
Original Question with Options :

Which of the following pairs have pyramidal and square planar geometries, respectively?

Options:
: IC1; ,10,F,

CIF;, 104
2 3. 1U4

, 105107 o

XeOF,, Xe0,F,
a. 2 252

Post-Objection Decision :

No Correct Option. Full Marks to All Candidates.



Post : PGT — Chemistry

Date of Exam : 04-Aug-2021
Shift: 1

Question ID : 771907844
Original Question with Options :

The electronic configurations of Mn (atomic number 25) and Cu (atomic number 29) are,
respectively.
Options :

: [Ar](3d)®(4s)® and [Ar] (3d)® (4s)®
5 [Ar](3d)®(4s)! and [Ar] (3d)*° (4s)?
3 [Ar](3d)®(4s)* and [Ar] (3d)? (4s)*

4 [Ar](3d)® (4s)" and [Ar] (3d)*° (45)' of

Post-Objection Decision :

No Correct Option. Full Marks to All Candidates.



Post : PGT — Chemistry

Date of Exam : 04-Aug-2021
Shift: 1

Question ID : 771907846
Original Question with Options :

The standard reduction potential for Co(aq)/Co™{(aq) and O2(g)/H20(]) in
aqueous acidic solution are 1.82 V and 1.23 V, respectively. Which of the
following statements 1s correct?

Options :

1. Water will oxidize Coll(aq) to Co{(aq)

2. There will be no reaction between water and Col(aq)

3. Coll(aq) will oxidize water

4. Water will reduce Co(aq) to Col(aq) W

Post-Objection Decision :
Question Out of Syllabus. Full Marks to All Candidates.



Post : PGT — Chemistry

Date of Exam : 04-Aug-2021
Shift: 1

Question ID : 771907860
Original Question with Options :

In the following reaction sequence. the major product, X 1s:

O
o ‘*«‘“’"“%v'J“c:DzH

1.
E M}_CHH - X
-y g

Options :

OH
r_.{\-cm
—=CH;
1. ~H

Cta

= 1H

[ =i
2 7 UH,

EH;

3. ~ bH

OH
——=CH;
/—H
4  THy

Post-Objection Decision :

Question Incorrect. Full Marks to All Candidates.



Post : PGT — Chemistry

Date of Exam : 04-Aug-2021
Shift: 1

Question ID : 771907866
Original Question with Options :

Tn the follovnng reaction sequance, after completion of the reaction, the reaction mixtere will comtain the organe compounds)

Eitvl acetoacetate 1. EdbgBr {1.0 mol)

3

(1.0 mal) I HOT
Options :
oH O & 0
r"?‘x{’LHDEt ﬂnr.l .-'/le'\,-"J-H-\-I I
1. Et
o Q
3 ’JL‘*-' 'JL'I b oonldy
OH O
by
3. Fl onby
{;' ¥ [
4. ©OH :

Post-Objection Decision :

No Correct Option. Full Marks to All Candidates.



Post : PGT — Chemistry

Date of Exam : 04-Aug-2021

Shift: 1

Question ID : 771907870

Original Question with Options :
The first Nobel Prize in chemistry was awarded in 1901 to:
Options :
1. 5 Arrhenius

2. E Fischer

3.] Hvan't Hoff o

4. W Ramsay

Post-Objection Decision :

Question Out of Syllabus. Full Marks to All Candidates.



Post : PGT — Chemistry

Date of Exam : 04-Aug-2021
Shift: 1

Question ID : 771907879
Original Question with Options :

An enzyme can be adsorbed on cellulose. The adsorption follows a Langmuir isotherm. The
maximum uptake is 75 mg of enzyme per cm<sup>3</sup> of cellulose. Half of this maximum
occurs when the solution contains 55 mg L™! of the enzyme. The amount of cellulose required to

adsorb the enzyme from 100 ml of 200 mg L' solution is:
Options :

1.0.34cm3 W

2.0.68 cm?

3. 1.36 cm?

4.2.72 cm?

Post-Objection Decision :

Question Incorrect. Full Marks to All Candidates.



Post : PGT — Physics

Date of Exam : 04-Aug-2021
Shift: 1

Question ID : 7719071241
Original Question with Options :

An airplane moving with a speed of 800 km/ h emits its products of burning at the speed of 2000
km /h relative to the airplane. Now, an observer on the ground will find the speed of the latter is
Options :

1.-1200 km/h «

2.1200 km/h

3. 2800 km/h

4.-2800 km/h

Post-Objection :

Options 1 and 2 are correct. Full Marks to candidates who have answered with either Option
1 or Option 2.



Post : PGT — Gujarati

Date of Exam : 04-Aug-2021
Shift : 2

Question ID : 771907354
Original Question with Options :

GuRA U GuHlel a2 As3UAL Ellacuml WA &R Sl UASR WA B ?
Options :
1. Wl

, @

3 U35

2 GUHL o

Post-Objection Answer Key :

1. el

 callse(d

2
3, U3

4. GUHL



Post : PGT — English

Date of Exam : 06-Aug-2021
Shift : 2

Question ID : 7719071092
Original Question with Options :

Select the most appropriate meaning of the underlined idiom.

he young woman was able to impress everyone with the gift of the gab.
Options:

1. Generosity

2. Wearing good clothes

3. Talent for speaking eloquently «

4. Ability of being clever
Post-Objection Decision :

Question Incorrect. Full Marks to All Candidates.



Post : PGT — English

Date of Exam : 06-Aug-2021
Shift : 2

Question ID : 7719071093
Original Question with Options :

Select the most appropriate meaning of the underlined idiom.

The importance of defensive batting is losing ground.
Options:

1. Dependent on the ground

2. Becoming less acceptable w#

3. Alosing battle

4. Should become more loose

Post-Objection Decision :

Question Incorrect. Full Marks to All Candidates.



Post : PGT — English

Date of Exam : 06-Aug-2021
Shift : 2

Question ID : 7719071124
Original Question with Options :

The __ of acoinis a factor that plays an important role in estimating its worth.
Options :

1. shape

2. non-metallic aspect

3. colour W

4. size

Post-Objection Decision :

No Correct Options. Full Marks to All Candidates.



Post : Assistant/Primary/Upper-Primary Teacher
Date of Exam : 09-Aug-2021

Shift: 1

Question ID : 7719071942

Original Question with Options :

Choose the correct statement about intelligence and creativity among the following:
Options :

1. An intelligent student can be creative also

2. A creative student can be intelligent also «

3. An intelligent student cannot be creative

4. A creative student cannot be intelligent

Post-Objection Decision :

Options 1 and 2 are correct. Full Marks to candidates who have answered with either Option
1 or Option 2.



Post : Assistant Teacher — TGT English
Date of Exam : 09-Aug-2021

Shift : 2

Question ID : 7719071528

Original Question with Options :

What is the main purpose of the assessment process?
Options :

1. To assess the skills of the learner

2. To determine the social status of the learner

3. To decide new learning strategies

4. To improve the teaching-learning process o

Post-Objection Decision :

Options 1,3 and 4 are correct. Full Marks to candidates who have answered with either
Option 1 or Option 3 or Option 4.



Post : Assistant Teacher — TGT English
Date of Exam : 09-Aug-2021
Shift: 2
Question ID : 7719071530
Original Question with Options :
Which of the following is a psychological theory that values continuity the most?
Options :
1. Erikson's psychosaocial theory
2. Vygotsky's sociocultural theory

3. Piaget's cognitive development theory

4, Kohlberg's theory of moral development
Post-Objection Decision :

Question Incorrect. Full Marks to all candidates.



Post : Assistant Teacher — TGT English
Date of Exam : 09-Aug-2021

Shift : 2

Question ID : 7719071532

Original Question with Options :

Which of the following methods provides most opportunities for practice new language?
Options :

1. Drill method w4

2. Demonstration method

3. Inductive method

4, Lecture method
Post-Objection Decision :

Question Incorrect. Full Marks to all candidates.



Post : Assistant Teacher — TGT Guijarati
Date of Exam : 09-Aug-2021

Shift : 2

Question ID : 7719071844

Original Question with Options :

ol Aot 20€l Usl WAl Asela Wl -

Options :

1. el v

5> WlEledat

3, wlRlaUat

4. R dust

Post-Objection Decision :

No Correct Option. Full Marks to all candidates.



Post : Assistant Teacher — TGT Guijarati
Date of Exam : 09-Aug-2021

Shift : 2

Question ID : 7719071771

Original Question with Options :

U51RQ[ (assessment) Uzl Hul 3-»(1 3 B2
Options :
;. 2uietiell atHdle] HeUlset 524

5 utetiRedl AHIY s uldmsia Hiudl

" otell Bt g UL atssl 53¢l

5 WeRlUst- Ao YEAHL YU 5cl o
Post-Objection Decision :

Options 1,3 and 4 are correct. Full Marks given to candidates who have answered with either
Option 1 or Option 3 or Option 4.



Post : Assistant Teacher — TGT Guijarati
Date of Exam : 09-Aug-2021

Shift : 2

Question ID : 7719071773

Original Question with Options :

A AoAtiell 52l A5 HoAldeRAs Rgid B B W Al ay He WA B2
Options :
1 ARsUoAA HAMHRS Raic

- cl@blall wHBs-uiRgAs Rsict

2
5. QB Asttottets @Qsid Reid

4. Aeeelall AQs Rstael Rgid

Post-Objection Decision :

Question Incorrect. Full Marks given to all candidates.



Post : Assistant Teacher — TGT Guijarati
Date of Exam : 09-Aug-2021

Shift : 2

Question ID : 7719071775

Original Question with Options :

ol Aol el 56 uglq etell enuall Ho1a (AR5 HE Helewdtell sl ygl wi 82

Options:
1 R (oril) usld o

5 uaq[a (Demonstration) ugld

3. U5 (Inductive) ugld

4 @llvRllet (Lecture) Ug(d

Post-Objection Decision :

Question Incorrect. Full Marks given to all candidates.



Post : Assistant Teacher — TGT Mathematics
Date of Exam : 09-Aug-2021
Shift: 2
Question ID : 7719071611
Original Question with Options :
What is the main purpose of the assessment process?
Options :
1. To assess the skills of the learner
2. To determine the social status of the learner

3. To decide new learning strategies

4. To improve the teaching-learning process o

Post-Objection Decision :

Options 1,3 and 4 are correct. Full Marks given to candidates who have answered with either
Option 1 or Option 3 or Option 4.



Post : Assistant Teacher — TGT Mathematics
Date of Exam : 09-Aug-2021
Shift : 2
Question ID : 7719071613
Original Question with Options :
Which of the following is a psychological theory that values continuity the most?
Options :
1. Erikson's psychosocial theory
2. Vygotsky's sociocultural theory

3. Piaget's cognitive development theory

4. Kohlberg's theory of moral development &
Post-Objection Decision :

Question Incorrect. Full Marks given to all candidates.



Post : Assistant Teacher — TGT Mathematics
Date of Exam : 09-Aug-2021

Shift: 2

Question ID : 7719071615

Original Question with Options :

Which of the following methods provides most opportunities for practice new language?
Options :

1. Drill method  w#

2. Demonstration method

3. Inductive method

4. Lecture method

Post-Objection Decision :

Question Incorrect. Full Marks given to all candidates.



Post : Assistant Teacher — TGT Mathematics
Date of Exam : 09-Aug-2021

Shift: 2

Question ID : 7719071661

Original Question with Options :

The co-ordinates of points P, Q, R and S are (-3, 5) (4, -2) (a, 3a) and (&, 3), respectively, and the
area of APQR and AQRS are in the ratio 2 : 3. Find a.

Options :

45 Iff

11

&
3 |

Fl

2

Post-Objection Decision :

No Correct Option. Full Marks to all candidates.



Post : Assistant Teacher — TGT Social Science
Date of Exam : 09-Aug-2021

Shift : 3

Question ID : 7719071710

Original Question with Options :

What is the vehicle used for extracting faecal sludge from septic tanks called?
Options:

1. Honeysucker o

2. X-Scavenger

3. Vacuum trucks

4. Plunger

Post-Objection Decision :

Options 1 and 3 are correct. Full Marks to candidates who have answered with either Option
1 or Option 3.



Post : Assistant Teacher — TGT Social Science
Date of Exam : 09-Aug-2021
Shift : 3
Question ID : 7719071734
Original Question with Options :
Which one of the following time period is incorrect in respect of movements started by Gandhiji
against the British rule?
Options:
1. Salt Satyagraha March : 12 March 1930 to 6 April 1930.

2. The Swadeshi Movement : 1903 to 1908
3. The Non Cooperation Movement : 1920 to 1922

4. Civil Disobedience : 1940 to 1941 w#*

Post-Objection Decision :

Options 2 and 4 are correct. Full Marks to candidates who have answered with either Option
2 or Option 4.



Post : Assistant Teacher — TGT Social Science
Date of Exam : 09-Aug-2021

Shift : 3

Question ID : 7719071724

Original Question with Options :

RIS DI I dUTgT §Ladcidl A0 Hell Feqi=l =5t gl araudrd HTewl Hg?
X 1. g

of 2 v
75 4 uRd

Post-Objection Decision :

Translation Error. Full Marks to all candidates.



Post : Foreman (Mechanical and Electrical)
Date of Exam : 10-Aug-2021

Shift : 2

Question ID : 7719072173

Original Question with Options :

If a thin cylindrical shell with 1 mm thickness and 40 mm diameter is filled with fluid having
pressure 2 MPa, then the maximum shear stress is:

Options:

1.5 N/mm?

2. T0N/mm?2 o

3. 20 N/mm?

4. 80 N/mm?

Post-Objection Decision :

Options 2 and 3 are correct. Full Marks to candidates who have answered with either Option
2 or Option 3.



Post : Foreman (Mechanical and Electrical)
Date of Exam : 10-Aug-2021

Shift : 2

Question ID : 7719072214

Original Question with Options :

Exhaust valve temperature of a diesel engine is about:
Options:

1. 100° Celsius

2. 150° Celsius

3. 400° Celsius "

4. 600° Celsius
Post-Objection Answer Key :

1. 100° Celsius
2. 150° Celsius
3. 400° Celsius

4. 600° Celsius "



Post : Technical Assistant - Mechanical
Date of Exam : 12-Aug-2021

Shift: 1

Question ID : 71220176

Original Question with Options :

ARt # & 'HaRas J &9 91 A 87

Options:
1. SqgdHg

2. Tgdie
3. e

4. AARY W
Post-Objection Answer Key :

Options:
1. JqgdidTg

2. TGAIG o
3. qad
4.?1?!}5]351



Post : Technical Assistant —2 WS 2 Electrical
Date of Exam : 12-Aug-2021

Shift: 1

Question ID : 712201328

Original Question with Options :

AffAaRafa d § 'Havdq' | ol 91 99E 8?

Options:
1. SggdiE

2. TS
3. 7@

4. TN W
Post-Objection Answer Key :

Options:

1. g
2. TGANE o
3. gdd

4, ddUy



